C:h Lattice 3 by 2

Name:

Use lattice multiplication to solve each problem.

b 341 x 47 = 2) 768 x 31 =

Answers
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Lattice 3 by 2 Name:. Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
341 x 47 = 768 x 31 = 166 x 52 = N 16,027
3 4 1 7 6 8 1 6 6
1/// 1/// 0/// 4 2/// l/// 2/// 3 0/// 3/// 3/// 5 2. 23’808
1(.7 2|.,7 6,7 4 21,7 1,7 8|.,7 4 0|, 5(, 0,70
/// 2 // 2 // O // /// 0 /// 0 /// O // /// O /// 1 /// 1 //
6.7 1. 8| 7" 31,7 71.76|, 8|t gl 21,7 2], 22 || 8,632
//0 //2//7 //8 //O//8 //6 //3//2
Ve s V. / 7/ , 7 7 v 4 10’332
5 11,180
4) 5) 6)
126 x 82 = 130 x 86 = 692 x 58 =
6. 40,136
1 2 6 1 3 0 6 9 2
0,11 .14 7 0.,[2 .70 3 .14 11 -
1.7 8|, 6|, 8|® 1.8l 4, 08 4l 0l 5|, 0|2 |7 9,916
/// 0 /// /// 1/// 2 /// 0 /// 1 /// 0/// 6 /// 4 /// 7 /// 1/// 8
ol 21,74l 2 11.776|.”"8|,” 0 ol.”"sl.” 2,68 |[s __ 36,380
3,73 .72 1,78 .70 1,73 .6
9. 24.609
10. 9,252
7) 268 x 37 = 8) 535 x 68 = 9) 631 x 39 =
2 6 8 5 3 5 6 3 1 u_ 9,861
0,’1,’2,’3 3,’1/3/6 1,’0,’0,’3
0l.” 6|, 8], 4 3.7 0|, 8], 0 21,7 8|,7 9,73 12. 29,950
L4 s ; a2 AL o 15 |2 o L °
91,7 4|.” 2|,” 6 6|1.20|.74|,70 41,7 41,7 71,7 9
/// 9 /// l/// 6 /// 3 /// 8/// O /// 6 /// O/// 9
10) 404 x13= 1) 173x57= 12) 394 75=
4 0 4 1 7 3 3 9 4
o.,/0 ,7/0 ,/ 0.,/3 .,7{1 , 2,716 ,7|2 ,7
// s s 1 // Va Vl 5 // ’ , 7
O/ 4//0//4 O/ 5//5//5 2/ 1//3//8
/// 1 /// /// 1/// 3 /// O /// 4' /// 2/// 7 /// 1 /// 4 /// 2/// 5
5 // 2 // o // 2 9 // 7 // 9 // 1 9 // 5 // 5 // 0
;2,75 .2 8,76 71 5,75 .70
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